. VCE & PDF https://www.pass4itsure.com/1z0-1079-21.htmi
g 2024 Latest passditsure 120-1079-21 PDF and VCE dumps Download

PassditSure.com

170-1079-219%As

Oracle SCM Transportation and Global Trade Management Cloud 2021
Implementation Essentials

Pass Oracle 1Z20-1079-21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/1z0-1079-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

170-1079-21 Practice Test | 120-1079-21 Study Guide | 120-1079-21 Exam Questions 1/3


https://www.pass4itsure.com/1z0-1079-21.html
https://www.pass4itsure.com/1z0-1079-21.html
https://www.pass4itsure.com/1z0-1079-21.html

VCE & PDF https://www.pass4itsure.com/1z0-1079-21.html
a 2024 Latest passditsure 170-1079-21 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

How would you create an association in OTM if you want to associate a Match Rule to a specific Service Provider
(carrier)?

A. Create the Rule, then assign the Service Provider to the Rule.
B. Create the Rule, then assign the Rule to the Service Provider.
C. Create the Rule, assign the Rule to an appropriate Rule Profile, then assign the Rule Profile to the Service Provider.
D. Create the Rule, assign the Rule to an appropriate Rule Profile, then assign the Service Provider to the Rule Profile.

Correct Answer: B

QUESTION 2

When a new Service Provider is created, OTM automatically does which of the following?

A. OTM assigns the default Calendar defined in the Parameter Set.

B. OTM associates the Service Provider calendar with the calendar of the CORPORATION ID identified during setup.
C. OTM sends an email or fax to the Service Provider contact, depending on the contact\\'s preferred contact method.
D. OTM creates a corresponding LOCATION, with the location Role of "CARRIER".

Correct Answer: A

QUESTION 3

Your customer has US and Germany orders.

How would you setup a User role with read/write access for US orders, and only read access for German orders?
A. Assign multiple User Roles while creating User.

B. Access can be controlled via VPD profile along with external Predicates.

C. Access can be controlled via Access Control List and assign to User Role.

D. Assign multiple User Role grants in User Role.

Correct Answer: A

QUESTION 4

You have created the following Workflow Agent in your OTM test environment and you want to move it to
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your OTM production environment:

Agent Name: SHIPMENT NOTIFY

Event: LATE_SHIPMENT (New Custom Event)

Saved Condition: SHIPMENT IS INBOUND (New saved condition)
Actions:

IF SHIPMENT STATUS IS NOT CANCELLED (IF uses a new Saved Condition)
SET INTERNAL STATUS: ENROUTE_DELAYED

ENDIF

Which Screen Set ID\\'s do you have to use in your Migration Project?
A. AGENT, EVENT, SAVED_CONDITION, SAVED QUERY

B. AGENT, CUSTOM_EVENT, SAVED_CONDITION, SAVED QUERY
C. AGENT, AGENT_EVENT, SAVED_CONDITION_QUERY

D. AGENT, CUSTOM_EVENT, SAVED_CONDITION

E. AGENT, AGENT_EVENT, SAVED_CONDITION, SAVED QUERY

Correct Answer: D

QUESTION 5

Which are the two ways in which Milestones differ from Agents? (Choose two.)

A. Milestones may be made up of one or more Agents.

B. Milestones monitor for a condition to occur, whereas Agents only start and stop based on a time-based schedule.

C. Milestones may be both "reactive” (for example, they monitor for a condition to occur) and "proactive” (for example,
they can initiate before, at, or a prescribed number of times after a condition occurs).

D. Agents monitor for a condition to occur, whereas Monitors only start and stop based on a time-based schedule.
E. Agents may be made up of one or more Milestones.

Correct Answer: AC
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